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QUESTION 1

Given: What is the output?

1. import java.time.LocalDate;
i import java.time.Period;
3.
4. public class Whizlabs {
5. public static void main(5tring[] args) {
6. LocalDate date = LocalDate.of(2015, 3, 26);
L Period p = Period.ofDays(1);
8 System_out_printin({date_plus(p)):
9. 1
10. }

A. 2015-03-27

B. 2015-04-27

C. 2015-02-27

D. Compilation fails due to error at line 6.

E. Compilation fails due to error at line 8.

Correct Answer: A

To create we have used following method with LocalDate class; public static LocalDate of(intyear, int month, int
dayOfMonth) Here we need to remember that month is not zero based so if you pass 1 for month, then month will be

January. Then we have used period object of 1 day and add to date object which makes current date to next day, so
final output is 2015-03-27. Hence option A is correct. https://docs.oracle.com/javase/tutorial/datetime/iso/ datetime.html

QUESTION 2

Given the code fragment: System.out.printin(2 + 4 * 9 - 3); //Line 21 System.out.printin((2 + 4) * 9 - 3); // Line 22
System.out.printin(2 + (4 * 9) - 3); // Line 23 System.out.printin(2 + 4 * (9 - 3)); // Line 24 System.out.printin((2 + 4 * 9) -
3); // Line 25 Which line of codes prints the highest number?

A. Line 21

B. Line 22

C. Line 23

D. Line 24
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E. Line 25

Correct Answer: B

Explanation: The following is printed:

QUESTION 3

Given the code fragment:

javac Test.java
java Test

What is the result?

A. An exception is thrown at runtime.
B. 07-31-2014

C. 2014-07-31

D. 2014-09-30

Correct Answer: C

QUESTION 4

Given: Which statement is true?

A. Both p and s are accessible by obj.

B. Only s is accessible by obj.
C. Both r and s are accessible by obj.
D. p, r, and s are accessible by obj.

Correct Answer: B
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QUESTION 5
Given: What is the result?
3656

ompleted with exit code: 0

A. 97 98 99 100 null null null

B. 97 98 99 100 101 102 103

C. Compilation fails.

D. A NullPointerException is thrown at runtime.

E. An ArraylndexOutOfBoundsException is thrown at runtime.

Correct Answer: E

int[] arrav = {1, 2, 3, 4, 5};
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